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""Directions : For the three items which follow : Directions : For the three items which follow :

Three compounds A, B and C have the formula
CcHyy ., Al three compounds rapidly |
decolourise Br, in CCl,, all three are soluble in
cold cone. H,SO,. Compound A gives a
precipitate when treated with AgNO, in aq.
NH,, but compounds B and C do not.
Compounds A and B both yield n-hexane when
they are treated with excess H, in the
presence of Pt catalyst. Under these coriditions
C absorbs only one molar equivalent of H, and
gives a product with the formula C;H,,. When
A is oxidized with basic KMnO, and the
resulting solution acidified, the only organic
product that can be isolated is
CH3(CH2)3CO2H. Similar oxidation of B gives | 5.
only CH,CH,CO,H and C gives only | -
HO,C(CH,),CO,H.

1. What is the structure of compound (A) ?
(a) CH,CH,C = CCH,CH,
(b) CH,C = CCH,CH,CH,4
(c) CH,CH,CH,CH,C = CH

6.
(@) HC = CCH,CH(CH,),
2, What is the structure of compound (B) ?
(a) CH,CH,CH,C = CCH,4
(b) CHCH,C = CCH,CH,
() (CHZ),CHC = CCH,
3.  What is the structure of compound (C) ? 7.
(a) O
CHj,

»

(© CHLCH,C = CCH,CH,
(d HC = CCH,CH,CH,CH,

"N-DTQ-K-EJG (2 -A)

Both methane and ethane can be used as fuels.
The values of AH? for CH,(g), C,H,(g),
CO, (g) and H,Q (I) are respectively —74-84,
- 84-68, - 393-5 and — 286 kJ mol™L.

What is the enthalpy of combustion of
methane ? :

(a) — 89066 kJ moi~!

(b) - 655-33 kJ mol™!

(¢) — 44533 kJ mol™?

(d - 22266 kJ mol!

How much heat is evolved per gram of

ethane ?

{a) 26-0kJ
(b) 390 kJ
() 52:0 kJ
(dy 650kdJ

How many times (approximately) is methane
more efficient than ethane ?

(a) 093

by 107
{c) 1-6?
(d)y 201

For a given solution of Schrodinger wave
equation, the value of y is expressed as
vy = f(r).f(x).f(y). What does this wave
function represent ?

(a) f-orbital function only

(b) d-orbital function only

(¢) p-orbital function only

(d) p and d-orbitals function
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(a) CH,CH,C = CCH,CH,

(b) CH,C = CCH,CH,CH,

(¢) CH,CH,CH,CH,C = CH

(d) HC = CCH,CH(CH,),

i (B) & wRawn @ & ?

(a) CH,CH,CH,C = CCH,

(b) CH,CH,C = CCH,CH,

() (CHy,CHC = CCH;

" (d) (CH,),CH-CH,C = CH

Hifis (C) H T & 2

{(a) @

CH,

v AN

(¢ CH,CH,C = CCH,CH,
(d) HC = CCH,CH,CH,CH,

(3 -A)

R : smor i ge & e -

A ik edw A & o B w9 g A E
CH, (g), C,Hg (), CO,(g) 3R H,0 () & fo
AH & HF $UE - 74-84, — 84-68, - 393-5 3R
~ 286 kJ mol™L & |

A T B e T @ ?
(a) - 890-66 kJ mol™!
(b) - 65533 kJ mol™*
(¢) — 44533 kd mol?
(d) - 22266 kdJ mol™?

afer T o ¥ P e s A 2 2
(a) 26:0kdJ
b 390 kJ
(©) 52:0kJ
(d) 650 kJ
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(a) 093 o
(b) 107

) 167

(d) . 2-01
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(d) p 3R d-FaEH BaT




Directions : For the two items which follow :

8. Taking into account the isoelectronic principle

and VSEPR theory, predict in which one of the

following pairs, both molecular species have

pyramidal geometiry ?

(a) BOJ™ and SO3-

() COZ" and NOj 12.

(©) 807 and ClO;

(d) 80, and ClO7

9, Which one of the following is the correct]
statement about the geometry of IF, ?

(a) It has octahedral geometry with one |18.
lone pair occupying face of octahedron.

(b) It has regular octahedral structure.

(c) It has pentagonal bipyramida! structure
with one lone pair occupying an axial
position. '

(d) None of the above

Directions ; For the two items which follow : 14.

Two compounds (X) and (Y} of the same

molecular formula C,H; gave the following

reactions :

1.  Both discharged colour of Br, in CCl,

2. (X) gives a precipitate with ammoniacal
AgNOQO, and on oxidation gives propanoic
acid and CO,

3. (Y) does not give precipitate with|ys
ammoniacal AgNO, and on oxidation
gives oxalic acid and CO,

10. What is the structural formula of (X} ?

(a) CH,C = CCH, |

(b) CH,CH,C = CH

() CH,=CH - CH = CH,

(d) CH,=C=CH-CH,

11. Whatis (Y)?

(a) CHSCH = C = CH2

(b) CH,4C = CCH,4

(¢} CH = CCH,CH,

(d) CH,=CH-CH = CH,

N-DTQ-K-EJG (4 - A)

The electrical resistance of a column of
0:05 M NaOH solution of diameter 1 em and
length 78-5 ¢m is 5000 ohm.

What is the resistivity of the solution ?
(a) 50Q em

(b) 40 Q em

(¢) 30Qecm .

.(d) None of the above

What is the molar conductivity of the
solution ?

(a) 200 S ¢m? mol™!
(b) 400 S em? mol™!
{¢) 600 S cm? mol™!
(d) None of the above

A plot of standard Gibbs free energy of
formation of metal oxide against temperature
is koown as

(a) Tanabe - Sugano diagram

(b) Elingham diagram

{¢) MO diagram

(d)

Lewis diagram

On a commercial scale H, can be produced
by the following sequence of reactions :

steam

Steam Red hot coke .

> Y
450 °C Iron oxide
Treated with solution of Zl

Hy
What are X, Y, Z in the sequence of reactions
respectively ?
(a) (CO+H,), (COs+H,), NH,OH
(b) (CO,+H,), (CO+H,), K,CO,
{c} (CO+H,), (CO,+H,y), K,CO,4
(d) (CO+H,), (H,+H,0), Ca0




A s fam 3k VSEPR Rigea & & A
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(@) B0} sk sof-
) coZ 3R NOj;
(© S0: sk ClO;
(d) S0, 3R Cl0;
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(a) g oIrchaor suiifa <war & foraw

HLHTD F Beid R T THID! g reanid
g1

© (b) gz Fafw srewae SaEr adr g

(¢) ug e RS e v & et
vE T g e Rerfy W sremfie &

(d) v & ¥ B A

fder - et @) ge & fow

10.

11.

N-DTQ-K-EJG
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(X) BT TREATES GF a1 & ?
(a) CH,C = CCH,

(b) CH,CH,C = CH

(¢t CH,=CH -CH = CH,
(d} CH,=C =CH - CH,
(V)@ ?

(a) CH,CH = C = CH,

(b) CH,C = CCH,

(c) CH =CCH,CH,

(d CH,=CH-CH-=CH,

der : smer @t geAl & fow -

12,

13.

14,

{5 -A)

1 cm @4 3R 785 om @ @ 0-05 M NaOH
foormm & vs ww @ dg@ wiRer 5000 ohm
g1

oo S RS ®r € 2
(a) 50 cm

{(b) 40Q cm

©0 30Qem

@ I F A BE T

faeras & Her areEar T @ ?
(a) 200 S cm? mol™?
(b) 400 S-em? mol™?
(c) 600 S em? mol™}
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Ffemst S A X, Y, ZEmm war € ?
(a} (CO+H,), (CO,+H,), NH,OH

(b) (CO,+H,), (CO+H,), K,CO,4

(¢} (CO+H,), (COu+H,), K,CO,

(d) (CO+H,), (H,+H,0), Ca0




16. When Beryllium hydroxide is treated with |18,
acetic acid in water, the compound formed is
(a) Beryllium acetate, Be(CH,COO),

{b) Basic beryllium acetate, BeO(CH3000)6

{c) Basic beryllium acetate,
Be,O(CH,COOQ),

(d} Basic beryllium acetate,
Be(OH),Be(CH,COO0),

17. Consider the hydrogen atoms marked as H,,
H,, Hc and Hy in the following molecule and
the statements 1, 2, 3 and 4 about their
topicity :

/"
H
/“"“Ha
Hy , H,
H
1. H_, Hy are enantiotopic and H,, H, are
diastereotopic.
2. H, Hy are diastere'otopic and H , H
are enantiotopic.
3. H,, H, are homotopic so are H, H,
4. H, H, are homotopic and H,, Hy are
enantiotopic.
Which of the statements given above is/are
correct ? 19.
(a) 1 only
(b) 2 only
() 2and 4
(d) 1land3
N-DTQ-K-EJG (6 - A}

Consider the following monosaccharides :

CHO CHO
H———— OH HO ———H
HO ———H HO —{——H
H———0OH H——OH
H —f—— OH H —t+—— OH
CH,0H CH,OH
I I
?H2OH CHO
C€=0 H OH
HO ——H HO —+——H
H —— OH H —+——OH
H—1—— OH HO ———H
CH,OH CH,0H
I v

Which of the following statements are correct
in respect of the above monosaccharides ?

1. T and II are epimers.

2. T is D-glucose and III is D-fructose.

3. Iis D-glucose and IV is L-glucose.

4. II and IIT will form the same osazone.

Select the correct answer using the code given
below :

(a) 1 and 2 only
(b) 1,3 and 4
(¢) 1,2and 4
(d) 2 and 4 only

The ecritical temperature and reduced
temperature of a gas are 150 K and 3
respectively. What is the temperature of the
gas ? :

(a) B0K

b 147K
() 153K
(d 450 K

o
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() ¥ WRfmw Wive, BeO(CH,C00),
() fs aRferaw WE, Be,O(CH,CO0),

@ s R e,
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1. H, H, gtw@efs & sk H, Hy
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3. H, H wrer & Rk s wR H, Hy
g1 |

4. H, Hy v ¥ 3R H, H, @i
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I Hot F ¥ B R wd A 2

(a) ®aw 1 |

(b) aet 2

(cy 234

(d) 133

19.
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e TRdeREE w R S
CHO . CHO
H ——— OH HO ———H
HO ————H HO ———H
H ———OH H ——— OH
H——oH H —}—OH
CH,OH CH,0H
I 11
cr0 cro
| €=0 H-—— OH
HO ——H HO ———H
H—— OH H —}—— CH
H —f—— OH HO ———H
CH,0OH CH,OH
111 v
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2. 1, Do & 3R I, D-waes & |
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4. 13RI 999 AT g |
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(a) e 13k 2
(b) 1,334
{c) '1,231114
(@) aw 2 3k 4

v 1 & Hif-I am qur Fure @ pawE 150 K
am3¥ | N s am e d ?

(a) B0K

by 147K

{(¢) 153 K

(d) 450 K




20. What would be the ratio of mean-square }24.
velocity of hydrogen gas at 50 K and that of
oxygen gas at 800 K 7
fa) 1
(b) 2
) 4
(d) 16

21.  Which one of the following is correct when an
ideal gas is expanded adiabatically and
reversibly ?

(@ q=0, W=nCgdT, AU =nCdT

b) q=0, W=0, AU = nC dT 25.
(C) q= 0, W= nCvdT, AU =0

(d) None of the above

22.  Given AHY on = 58 kJ mol™l, What is the
change in enthalpy for 1-0 g of water frozen at
its normal freezing point ?

(a) —322kJ
26.
(by -3224J
(c) 3224J
(d) 322 kJ

23. When an ideal gas is expanded adiabatically
and irreversibly from volume V, to V,, then
which one of the following is correct ?

(a) Aé (system) = 0 and
AS (surroundings) = +ve
{b) AS {system) = +ve and
AS (surroundings) = 0 27,
(c) AS (system) = 0 and
AS (surroundings) = 0
{(d) AS (system) = +ve and
AS (surroundings} = —ve
N-DTQ-K-EJG {8 - A

A compound of boron X’ on heating swells,

which on further heating gives glassy
transparent solid Y". The transparent solid Y
on reacting with metal oxides gives
characteristic  coloured. compound. The
formula of X, Y and name of the test
respeclively are

(a} Na,B,0,.10H,0, B,O4 and ring test

(b) _ Na,B,0, . 10H,0, B203 and borax bead
" test ' :

() HzBO,; B,0, and borax bead test

(d) NaBO, . 4H,0, B,0, and flame test

In Al,Clg, which has dimeric structure,

(a) All Al-Cl bonds have equal bond
lengths

(b) Al-Cl (terminal) bonds are longer than

Al — Cl1 (bridged) bonds

(¢} Al-Cl (terminal) bonds are shorter
than Al — Cl (bridged) bonds

{d) None of the above

Which one of the following statements is
correct ? : ’

(a) NaAlH, and NaBH, are readily
hydrolysed.

{(b) NaAlH, and NaBH, are not hydrolysed
at all.

(¢} NaAlH, is hydrolysed more readily than
NaBH,. -

(d) NaBH, is hydrolysed more readily than

NaAlH,.

In tetrathionic acid, what is the number o
S~ S bonds ? :

(a)
(b}
(c)
(d)

Two
Three
Four

One
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21.

22.

23.

N-DTQ-K-EJG

EREISH 9 & 50 K W 31 af-wmen o sifaia
o & 800 K W I aif-uiem &l 31U &4 g ?

(a) 1

. (b) 2

(c) 4.
(d) 16
Frafefad & ¥ 39 1 o 9@ &, 5@ vE Iy
R o2 vd Ipuoig T ¥ waRe & s & ?

(a) g=0, W= nCvdT, AU = nCvdT
(b) g=0, W=0, AU = nCvdT

(c) q=0, W =nCdT, AU =0

I ¥ ¥ B

AH;W:(:S-B kI mol e mm 8 1 1.0 g 5
F, I 3™ I femsw ) weifea far ™ &),
wied W war oRadw & 7

(a) -322kJ
(by —-322J
{c) 3224
(d) 322 kJ

59 v eel W B Faea V, ¥V, a5 ol
Ea'arg’c—;mﬂ?raa'wﬁa%mm% a‘rﬁﬂ%‘?@ﬂ
HFAPT TS T & ?

(a) AS({FT) =0 T AS (AR = +ve
() AS(dF) = +ve a1 AS(TRAT =0
(¢) AS{TdF) =0 adur AS (aRaw) =0

(d) AS (@) = +ve auT AS (URATN) = —ve

24,

25,

26.

27.
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e B E |
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Ste-safea 81 S |
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28. Consider the bonds marked as a, b, ¢, d in the 31.
following structure :
W
= = c ‘

What is the correct order of their homolytic
bond dissociation energies ?
(a) a>b>c>d
(b) d>¢c>b>a
(¢} a>b>d>c
(d) None of the above
32!
29. Consider the following compounds :
I.  PhNO,
II. PhCN
III. PhNC
0
il
IV. PhC - NHCH,
What is the correct order of the pK, values of
their products of reduction with hthium
aluminium hydride ?
a I>I>=IV>1
(b) IW>III>II>1
¢ I->IM>1>1IV
(d IV>U>1II>1 33.
30. A racemic mixture of an alcohol (A) reacts
with less than one equivalent of an optically
pure chiral acid chloride (B). The ester
product formed should be a
(a) mixture of enantiomers in eqgual
amounts.

(b) mixture of enantiomers in unequal

' amounts, )

(¢} mixture of - diastereomers in equal
amounts. :

(d) mixture of diastercomers in unequal
amounts.

N-DTQ-K-EJG ({10 - A

For a gaseocus reaction A + 3B = 2C;
AH® = — 90-0 kJ, AS® = — 2000 JK~!
at 400 K. What is AG® for the reaction
1 A+3B=C at 400K ?

2 2

(a) -50kJ

(b) —-100kJ

(€ -150kJ

(d) -200kJ

Consider the following :
/
1. H) -
op )p P

2. QE] =V
op g

3 ﬂ]
P Jy

Which of the above are the thermoedynamic
relations ? :

T

+

(a) 2 only
(b) 3 only
(¢ land2
(d) 2and3

According to the Phase Rule, which one of the
following satisfies the values of C = 2, P =3
and F=17

(a) NH,Cl((s) heated in an empty container
is in equilibrium with NH,(g) and

HCl (g)

NH,Cl(s) heated in a container
containing some amounts of NH; (g) is
in equilibrium with NH; (g) and HCI (g)

() A saturated solution of Na,80,, with
excess solid is in eguilibrium with its

(b)

vapour in a closed vessel

(d) None of the above
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29.
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(a) a>b>c>d

(b) d>c>5>a

(¢) a>b>d>c

(d) 9% 4 ¥ B T8

frafaites 9l R AR e -

I.  PhNO
II. PhCN
III. PhNC

O
[
IV. PhC -~ NHCH,

aieraw g@g@%ﬁmw‘q%m
& pK, 7R & ¥R FH a7 & ?

2

{(a) ON>II>IV>1
b) IV>TI>1I>1

(© I>II>I>IV

)y IW>II>II>1

T YeBIEI (A) BT U WWiHe T vt g

@Re o wRRs (B) & o6 ¥ &9 geuis ¥

i o= & | frfu o=z 3@ T 2An

Tifee ?

(a) 9 wEwsl ¥ wfafdwesdt & fsor

(b) 3FWF AERN ¥ wafaaea & FHsor

(¢) o AEmsi ¥ swidfar Bfew woauel &
fersyor

(d) gﬂmnﬁraﬁﬁamﬁrﬁﬁr%ﬁnwaaa‘im
il

31.

32.

33.

(11 - A)

T R afafear A + 3B = 2C & foe, 400 K
W AH® = — 90-0 kJ, AS® = — 200-0 JK~L,
aﬁ:ﬁ?m%A+gB¢cas%u4obKuan°
TR ?

(a}) -—-50kJ
(b) -100kJ
(¢) -150kJ
(d) ~-200kJ
Fr=feRad = feor i -
{
L (H) -
\ 9P P
2. B_G) _v
ap T
oT
3. — =
3p JH HyT

I H A B A Femis wwe § 2
(a) ad 2
(b) ael 3
© 13R2
() 233

yrawen From % IER, Fefafas 4 @ sl o,

C=2,P=37F=13% 7 o ¥ge oxar 2 ?

(2) ©F Res w= # A fear wr NH,Cl(BW)
st NH; @R @n HCl(hW) & W
wrae # 2

(b) S U # A A1 W NH,C) (3w e
$6 7 § NH, (W) ®, 3 NH, () a2
HCI () & arr wremawer # &

() o & ATy & |9 Na,SO, & v Hg
ﬁam,shmazmaqﬁmﬁrmm%m
qraaen § &

(d) IGH H A o T




34. A transition metal complex has trigonal |38.
bipyramidal geometry. The point group to
which the molecule belongs is
@ Gy
b)) C,

(c) Dy ‘
d C
35. When aqueous KCN is added to AlCl,
solution, which one of the following results ?
. (a) Al(OH), is precipitated
(b)  [AUCN)GI is formed 39
() [AHCN),]” is formed
(d) ANCN), is precipitated

36. In the extraction of pure Ni, the following

reaction is utilized :

Ni0 +X W NiCO, temperature Y °C> Ni

In the above reaction what are X and
temperature Y respectively ?

(a) CO and 100 °C

(b) (C + CO) and 150 °C

(c) (H, + CO) and 230 °C

(d) CO and 230 °C 40.

37. In Parker’s process for the manufacturing of
silver, molten lead is extracted with
(a) Ni
(b) Al
(c) Zinc
(d) Copper

N-DTQ-K-EJG {12 - A}

Commonly employed reaction in extraction of
gold is given below :

4 Au + BNaCN + 2 HyO + X — 4 NafAu(CN),] + 4 NaOH
J,Y (used to precipitate)
Au

What are X and Y in the reaction respectively ?
(a) N, and Cu

(b) Oé and Zn

(¢) CO, and Ni

(d) CO, and Ag

Consider the bonds 1, 2, 3 -and 4 in the
following structure :

i i
|
HOOC - CH,-NH L C - CH, - CH - C 2 NH - CH,COOH

Nﬂiﬁ_?H-NHiﬁ-CHa
0 CHfh O

Which of the bonds are peptide bonds ?

(a) 1and 4 only
(b) 1 and 2 only
(¢) 2 and 3 only _

(d) 1,2and 3

An organic compound shows absorptions at
3250 (m,br) and 1650 (str) em™L, besides other
absorptions in its IR spectrum., Which of the
following structures for this compound is
compatible with these values ? |

(a) PhCONH,
(b) PhCONHCH,

(¢) PhCOCH,NH,
(d) PhCOCH,NHCH,




34. UE SpnU o S Bt R sofifr|ss. vl & Fresdor & s vy sfbfear 9 @ T
T ¢ | g8 3] Frefife. e fog W 3 2 | : |

R @ 2 o 4 Au + 8 NaCN + 2 HyO + X — 4 Na[Au(CN),} + 4 NaOH
' - | Y (sradmr & )
(a) C,, 7 . Y
b G sffian X 3R Y e @ & 7
() Dygy
(a) N, 3R Cu
(d)y C,
35. 3@ ST KCN, AlCL, famam # s siar &, (© €O, 3R Ni

Prafofes # @ a9 o oRomr g dar & 2

\ (d) CO, 3R A
(a) AI(OH), aférer g & 2708

3— . .
(b} [ALCN)g) mé_ 39. frafaRea wka=r F smeel 1, 2, 3 3k 4 W RER
(¢©) [ANCN),)” & IR -
(d) ANCN), saferd g ¢ | I i

i
HOOC - CH,-NH L ¢ - ¢, - CH-C 2 NH - CH,CO0H
NHEc-cH-NHAC-CH,

. 36. %giEﬁWﬁ,mmmﬁ B
NiO + X —z g NiCO)y ————> Ni ﬁ#mmaﬂw%?
Wﬁ?ﬁmﬁﬁmﬁ,xmmemgé (a) oaw 13 4
(a) CO 3R 100 °C | (b)lmlaﬂvz
(b) (C+CO) 3R 150 °C (c) oaet 23R 3
(¢) (H, + CO)3iR 230 °C @ 1,23R3

(d) CO 3R 230°C :
' 40, U HEE e s IR Wagn # =7 sEEoif

. . | & EET, 3250 (m,br) 31 1650 (str) em™! W
37. e & Fmfor & e adw wwn A, fe IR @ ; o o | zw o B R

Frefafa 3 ¥ fras am it fsar smar 2 2 e H Y P @ e g AR S A E 7

(a) Ni _ | (a) PhCONH,
® Al - | (b) PhCONHCH,
© (© PhCOCH,NH,
(d) dH
) PhCOCH,NHCH,
N-DTQ-K-EJG | (13 - A )




41.

(a} 50
(b) -100
(c) 150
(d) 1000
42. An ideal solution is formed by mixing two
volatile liquids A and B. X 4 and X, are the
mole fractions of A and B respectively in
the solution and Y, and Yy are the mole
fractions of A and B respectively in the
vapour phase. A plot of (1/Y,) along y-axis
against (I/XA} along x-axis gave a straight
line. What is the slope of the straight line ?
0
P
@ —2
Pa
0
p
b —&
Pg
© pp-pY
0 ]
(d) ) PA - pB
{where p% and p% are the vapour pressures
of the pure components A and B respectively.}
N-DTQ-K-EJG

A solution containing 0-10 g of non-volatile
solute X (molar mass : 100) in 200g of
benzene depresses the freezing point of
benzene by 0-25 °C while 0-50 g of another
_hon-volatile solute Y in 100 g of benzene also
depresses the freezing point of benzene by
0-25 °C. What is the molecular mass of Y ?

43.

44,

45.

{14 - A )

The mole fraction of a gas dissolved in a
solvent is given by the Henry’s law. If the
Henry’s law constant for a gas in water at
298 K is 555 x 107 Torr and the partial
pressure of the gas is 200 Torr, then what is
the amount of the gas dissolved in 1-0 kg of
water ?

(a) 20 x 10”4 mol
(b) 25 x 1075 mol
(&) 37 x 10 mol
(@ 1-2 x 1078 mol

For the reaction A + 3B — 2C + 2D, the
concentration of A changes from 0-0150 M to
0:0135 M in 1 minute. What is the rate of
formation of C in Ms™1 ?

(a) 50 x 1075
(b) 25 x 10-°
() 30x 1079
(d) 50x10°%

For cancer treatment radium isotope has
60

been replaced by 2200. The 2700 can be

prepared by (n, p) and (n, y) reactions.

What are the target nuclei for these reactions
respectively ?

60

59

(a) 28Ni and 2700
®) Co and oNi
@ Ni and oCo’
@ 2§Ni and 2200'

L




41.

42,

N-DTQ-K-EJG

‘B & @@ wownm § O g #

0-10 g 3ErEie faca X (rhmmrrm:mm

T200g R A g W &GN @ femie &
'0-25 °C 3@ATd IR &1 € FEid 0-50 g TF g

sEree faerm Y o 100 g §309 F Oem W
A & Rwis 025 *Caaim ek 2 & | Y&

- 3fvas goHE w8 ?

(a) 50 .
(b) 100
(c) 150

(@ 1000

2 ardfier g@ A @ B @ e W vE saef
foca @ & | X, W Xp, AT B & HA
famam & =t siw @ q Y, O Yy ST A @
y-38 W
(/Y &, x-36 | (1/X,) . & ooz s s
e @ A & | WA I B e 7 ?

(a)

=R
=] e R=]

=
A
< |o
oo

(c) poB - poA

(@ pj - Py

(ot pY, T p & T A B & BT A
T §)

43.

44,

45,

{15 — A )

o s ¥ g g T A @ e
frmdfemgnd i ok 5@ 4 v v & fowe
& Fraw feri®s 298 K ® 555 x 107 Torr &
a1 g @ FfI® 2@ 200 Torr &, 1 10 kg 3
dygfig oA o & 2

(a) 20 x 10™* mol

(b) 25 x 10~ mol

(¢} 87 x 1078 mol

(d) 12 x 1072 mol

ﬁfﬁﬁmA{sB—mCﬂDas%u,Aaﬂw
1 fime ¥ 00150 M 3 aRafc €8x 00135 M &
FAME I CHIANTT D X Ms 1 am @ ?

(a) 50 x 107
(b 25 x107°
() 30x 107

@ 50x10°¢

FR & IR & T Weaw wwfio @, Co

o1 ufRenfug o= fear war 2 | Z‘;Coaﬁ(n,p)

AR (n, vy sffeoet g ke o an wsan
Bl

= Sffsame % R wwer ey i @ § 2

@ N sk Pco

28 27
b 0Co 3 TN
© oNi 3Rk )co
(@ SNi 3R Co

28 27




46. On commercial scale, at present, clectricity in
India is generated by making use of
(a} Nuclear fission reactions only
{b) Nuclear fusion reactions only
(¢} Nuclear fission and fusion reactions
(d) Artificial radioactive material of low
molecular weight )
47. 1g of radium emits 3-6 x 10*® g-particles per
second. The speed of the a-particles is
10" ms™! and mass of the a-particle is
6:6 x 10727 kg, What is the total kinetic
energy of the a-particles emitted from 1g of
radium ?
(a) 0-0119J
(b) 004J
(¢) 0104
(d) 0119J
48. The IUPAC nomenclature for
[PUNH,),] [PtCl,] is
{a) Tetraa:(nmine platinum (IV) tetrachloro
platinate (II)
(b) Tetraammme platinum (II) tetrachloro
platinate (II)
(c) Tetraammine platinum (II) tetrachloro
platinum (II)
{d) Tetraammine platinum (II) tetrachloro
platinate (IV)
N-DTQ-K-EJG

49,

50.

(16 - A}

Which carbocation in each of the following
pairs (A, B, C, D) is more stable than- the
other respectively ?

® o)
A (i) CH,0CH, (i) (CHyyN—CH,

@ ®
B. () CH;OCH,CH, (i) (CHy O CH,

c. i ¢ (i) +
® ®
CHCH, ‘CHCH,
o (7w (Y

Select the correct answer using the code given
below :

A B - C D

(@) G, G, @), @6
by G, (), @), @b
(@ @), @, (i), (i)
(d @, @), @, ()

Consider the following reaction :

BHy,
(=2 Ho, on

D CH,4
What is the compound A in the above
reaction ?

D H

-D OH

(e)

¢

HO H
{(d) None of the above




46.

47.

48.

N-DTQ-K-EJG

'Wﬁmﬁqﬁﬁmﬁﬁgﬁmm

X T T d
(a) Had T fawueT afifEant |
) e TR e ARms A

(c) mﬁqﬁafﬁmﬁaﬂ'{wsﬁﬁwﬁ%

(d) @5 Ves WR are pEw Wanfes vard ¥ )

1 g Wom 36 x 1010 a-For 9 a3 sl
A & | o @ O 107 ms! § 3R @0
AT 66 x 1027 kge 1 1g A A
RIS a-Fo B ot MRS FA @ E 2

(@ 00119 J

(b) 004J

(¢y 010J

(d) 01194J

[Pt(NH,),][PtCl,] & fore

Tl E ?

(@ e el (V) dmeR @RI aD

()  Tgmde SR (D) gy ARPE (1)

(o) g @ftem (D dgeErt @t (D

(d) Tgmie @i (1) RN @fee (IV)

TUPAC HATH® |

49.

50.

{17 - A

c.iy d O

| Frefefaa gl (A, B, C, D) % 3 7% ¥ Sl W
. PIETbCIA HEIT gER B e G R # ?

@ - @
A. (i) CHz0CH, (i) (CHy)yN -CH,

@ @
B. (i) CH;O0CH,CH, (i) (CHy O CHy

iy C\gq

& @
CHCH, CHCH,
D. (i) Or (ii) Q/

A R T T B WA aR FE I ghe -
A B C D
() G, G, ), @

) G, @), @), G

e ®, M, (i), (i)
d) @, . G, G, G

PR o W RraR @

_ ‘Hy,0,, OH™
D CH,

3w aififpan § diffis AT @ ?

D H
D OH




51. Consider the following statements : 55.
The mole fraction of a solute in a solution is °
1.  independent of temperature.
2. -equal to mM,/1000 for a dilute solution
(m = molality of the solution and M, is
the molar mass of the solvent).
Which of the statements given above is/are
correct ?
(a) 1 only
(b) 2 only 56.
(c) Both1and 2
(d) Neither-1 nor 2
52. 100 mL of a solution containing 1-0 g of NaCl
{molar mass 58+5) is found to be isotonic with
200 mL of a solution containing 12-0 g of
glucose (molar mass 180). What is the degree
of dissociation of NaCl ?
(a) 050 57.
(b) 065
© 070
(d 095
63. 200 mL of 0-2 M weak acid (pK, = 50) is
titrated against a 0-2 M strong base. What is
the pH at the equivalence point ?
(a) 50 '
b)) 70
(c) 90 ’
(dy 110
54. The energy sequence of five d-orbitals in
gquare planar strong ligand field is (assume
© z-axis is perpendicular to the plane of
maolecule) :
(a} dx2—y2 > dxy >de>d, = dyz
(b) do_2>do>d >d, = dy,
() d2.2 > dx2 —y2 > dxy = dxz = dyz
(d) None of the above
N-DTQ-K-EJG (18 - A)

All are primary pollutants, 'except

(a) SO,

(b) H,S0,

(¢ NO,

(d) Particulate matter

Which one of the following compounds has
prodiastereotopic aldehyde group ?

(a) 2-Methylpropanal

(b) 2-Phenylpropanal
(¢) 2-Ethylbutanal
(d) Cyclopentanecarbaldehyde

Consider the following compounds :

OH Cl
M OH
| Cl
I ‘ 11
H H
VAN7ANE AN
111 1V

Which of the above compounds can exhibit
optical activity at room temperature ?

(a) TandII ‘ ¥
(b) IandIV

(c) IV only

(d) TIT and IV




51.

52,

23.

54,

N-DTQ-K-EJG

frfRed Por W R AT 55.
wﬁﬁaﬁmﬁamﬁmamﬁm%

1. r—ncr@rﬁam

2. - faer % fore mM,/1000 & &R
(m a?rn’mamamm e @
AeR T ) |

30t oAl § ¥ Bl ad v & o

(a) &ad 1

(b) e 2

© 13k 223

(d) Jar1sikad2

56.

& 100 mL foerm, f79d 10g NaCl (AR
THE 585) WfRm. &, 120g T@N (R
S 180) a1 200 mL faeas & SRR uran
Fa g | NaCl & fadem & qmn @ar 2 ?

(a) 050 b7.
(b) 065
(c) 0-70
(d) 095

02 M g Il (pK, = 50) & 20:0 mL &
02 M ¥ee1 &R & favg srpafua fosar star & |
qoa g R pH R & 2

(a) 50

(b) 70

(c) -90

(d) 11-0

Mﬁmwﬁmﬁwdmﬁ’ta
FAT IFIHH T & (2-3181 DY 3] & I R & H
o) ?

(a) dxg_yg > dxy >d2 > dxz = dyz

(b) dxg_y'zb- d22>dxy>dxz=dyz_

¢ dg> dxg_‘yz > d)cy >d_=d

3G # A P T

Yz

(19 - A}

frfefea alt e wgves €, R
(a) S0, '

(b H,S0,

(¢ NO,

(d) it e

frfafes dfiml & ¥ &9 - w
MR RS Yesess g I@ar @ ?

(a) 2-NfaEitaa
(b) 2-EEe
(e 2-@3@3?3.
(d) ﬂgﬁﬁﬁ%ﬂﬂé@?ﬁmg

frafeRea difiet ) far e :
OH Cl

al
I _ 1
H H
\M\ 01/_ \01
11 v

m@mﬂﬁaﬁﬁ#ﬁh#a&mwm
Hihaan <ot wa & ?

(a) 13k
b 13RIV
(¢) ¥t IV

(d) I3k v




58. Ccnsider the following structures : 61.
COOH COOH
H — Br H-——— 0H
H — Br Br ~——— CH;4
CH,q H
I . I
Br Br
H——— COOH HOOC—{—H
H,C ——— Br H—— cH, | %%
H Br
11 v
Which one of the above structures represents a
diastereomer of erythro-2,3-dibromobutanocic
acid ?
(a) 1
(b) 1I
(c) II
(dy IV 63.
59. - The resistance of a 0-10 M weak acid HA in a
conductivity cell is 2:0 x 10° ohm. The cell
constant of the cell is 0-78 em™! and A, of the
acid is 390 S ¢cm? mol~2,
Consider the following statements :
1. pH of the acid solution = 3.
2. pK, of the acid = 5.
3. Degree of dissociation of the acid = 0-01. { g4
Which of the statements given above are
correct 7
(a) 1 and 2 only
(b) 1 and 3 only
{(c) 2 and 3 only
(d) 1,2and3
60. The reaction taking place in the cell
Pt | Hy(g) | HC1 (1-0 M) | AgC1{ Ag s
1 atm
(a) AgCl+(1/2)H, » Ag+ H" + CI”
(b) Ag+H'+ Cl” > AgCl + (1/2) H,
(c) 2Ag" + H, —» 2Ag + 2H"
(d) 2Ag+2H" - 2Ag" + H,
N-DTQ-K-EJG (20 - A)

Given the standard reduction potential (E°)
values of :

Fe3* + e 5 Fe2*; E° =077V

Fe** +3e 5 Fe; E°=-004V
What is the value of E° for Fe?* + 2¢ — Fe ?
(a) 0730V '

by -0195V

{c) —-0445V

d) -089V -

If E° 0 =034V and E° =080V,
Cu“*|Cu Ag'|Ag :

what is the emf of the cell
Cu | Cu®* (0:01 M) || Ag* (0-01 M) | Ag
at 208 K 7 '

(a) - 040V
(b) 046V '
(c) 050V
d) 052V

If an electron travels with a velocity of 1/100"
speed of light in the first Bohr orbit, what is
its velocity {(relative to the speed of light) in
the 5'" Bohr orbit ?

{a) 0-002
by 01
{cy 058
(dy 07

Which of the following statement(s) is/are
correctly applicable to all the transition
elements with atomic numbers (21 - 29) ?

.1. The lowest oxidation state is {+ 1)

2. The 4s-orbital is completely filled in the
ground state.

3. The 3d-orbital is incompletely filled in the
ground state.

4, The ion in the (4+2) oxidation state is
paramagnetic.

Select the correct answer using the code given
below :

(a) 1,2 and 3
{b) 3 and 4 only"
{¢) 4 only

(d) 3 only




58. fAfaRes dxaanli w faar &ifswe -
COOH COOH |
H — Br H ——— OH |
H — Br Br ——— CH;|
CH, ‘ H
I 1I
Br . Br
H ———— COOH HOOC——H
H,C — Br H ——— CH, |82
H Br
111 v
Kja {2 (57 I3 | A P
eRe2,3-SsAMIEEISE 3P @ UF  Imiciad
B wwmaTe frefta axar & 2
(@ I
(by 1I
() IIX
a Iv
59. U 0-10 M gdcr 3neT HA 1 ure, mreear Ja 4 |63,
2-0 x 10% ohm & | I &1 At feri® 0-78 cm™1 &
| RV 3T @A, 390 S em? mol 1 & |
fFafoRea sl ) far il -
1. 3rd faeaos & pH = 3.
2. IA@pK, =5
-3, 3 o e wmEr = 001,
IET FA AT BT IR E 2
(a) %aw 1 3R 2 64.
(b) wam 13k 3
(¢ wam 23R 3
d) 1,23k 3
60. T Pt | Hy(g) | HCI (1-0 M) | AgCl | Ag
1 atm
# @9 aren afafpar e @ 2
(a) AgCl+ (1/2)H, » Ag + H" + CI”
(b) Ag+ H'+ CI” - AgCl + (1/2) H,
(©) . 2Ag" + H, —» 2Ag + 2H*
(d) 2Ag + 2H* - 2Ag* + H,
N-DTQ-K-EJG

|s1.

( 21 .'—‘A)

(b) ae 3 3R 4

. PrafiRes & T g fava (B0 7F e 1w

%:
Fe3* + e > Fe?*: E°=077V
Fe* +3e > Fe; E°=-004V
Fe** + % —» Fe S U E S o a & 2

(a) 0730V

(b —0195V

¢y —0445V

(d) -089V

gfe geo = 0-34 V 3R E° =0-80V,
Cu?*|Cu Ag*|Ag

B, 9 9

Cu | Cu2* (0-01 M) || Ag* (0-01 M) | Ag
@ 298 K R fd.91. € (emf) &7 2 ?

(a) 040V
(b) 046V
(¢} 050V
(d) 052V

. IR v SR waTer @ Tt B 1/1008 F R wem

IR BET N W waT &, A 58 awg Hen o
{ma%maasﬂﬁa)m?mm% ?

(a) 0-002

(by 01

¢ 05

d) 07

frafofEa oo & ¥ 37 WA, o] wEw

(21 — 29) T VW FHUOT A H fow wE-wd

ygwasg &E ?

1. Fraw sifeiiexor s (+1) 2 |

2. 3 yEwn ¥ 4s-merw guier uRa @ & 1

3. 3T IEwn # 3d-wad Ui uikE g # |

4. (+2) SeiERor sEeEn ¥ FEA FTRST
g g |

I Re T Fe @ wam o) TR TR g

(a) 1,23k 3

(¢) ®ad 4
(d) &aer 3




65. Addition of BY to AH results in the formation |69.
of an adduct AH — BY, through hydrogen bond.
The stretching frequency of AH bond in the
adduct
(a) decreases as compared to that in free
AH
(b) increases as compared to that in free
AH
(c) does not alter '
(d) cannot be predicted
66. In the MO configuration of XeF,, how many
electrons are present in the bonding MO,
non-bonding - MO and anti-bonding MO
respectively ?
(ay 2,0, 2
b 21,1
© 2,20
(d) 1,2, 1
67. The preferred conformation of
cis-1,4-dimethyleyclohexane is
(a) Chair with both methyl groups in axial
position
(b) Chair with both methyl groups in
equatorial position
(¢} Chair with one methyl group in
equatorial position and the other in
axial position
(d) Boat
68. Consider the following molecule : 70.
~OH
The configurations of the left and right chiral
centres respectively in the above molecule are
| :
I (a) RR
(b) RS
(¢). SR
(d) S8
N-DTQ-K-EJG { 22 - A)

Which of the following Newman projections
represent chiral molecules ?

Ph Ph
H Br Ph Br
H Br Br H
Ph H
I 1I
Ph Ph
Ph Br Br H
H Br H Br
H Ph
111 v

Select the correct answer using the code
given below :

(a) Tand I
(b) I and Il

(¢) 1II and III

(d) III and IV

(R)}-2-butanol has a specific rotation of
-13-52° A sample of 2->butan_ol has observed
specific rotation of +6-:76°. What is the
percentage ee (enantiomeric excess) of the

sample ?
(a) 25
(b) 50
(c) .- 67
{dy 75




65.

66.

67.

68.

N-DTQ-K-EJG

BY &1 AH ¥ 0 & WX &g 3N & gRT
vH dmiere AH - BY &5 & | dmirare 3 AH

(a)
(b)
(c)
(d)

e B = agh,

T AH @ 99 i & gerr & wear @
gﬁmﬁwmaﬁwﬁaﬁ%
uRafda T &2

ye T Bt S G &

XeF, & MO f&=mr #, sdem MO, 3@EeT MO

ﬁ?ﬂ%mmoﬁmmsﬁa@?mﬁm

g7
(a)
(b)
(c)

(d)

2,0, 2
2,1, 1
2,2 0
1,21

Warmmsﬁﬁmmsaﬁﬂ%a%:raaﬁumam

27
(a)

{(b)
{c)

(d)

m“@qﬁmﬁaﬁrﬁﬁmwmﬁuﬁaﬁ
ﬂr'e"r
&

I v fornt ve e aR e sk

o el Rl § &
e v

Frefafa st W frar A -

OH

\\\\\\\

.Wmﬁmwﬁmaﬁiﬁﬁﬁm

HAIT &

(a)
(b)
(c)
(d)

RR
RS
SR
S5

69,

70.

(23 - A)

Prefead = wa 3 & @ ¥ R st B

Fefla s & ?
Ph Ph
H Br Ph Br _
H ‘Br Br H
Ph . H
1 II
Ph _ . Ph
Ph Br Br H
H Br H Br
H y " Ph
I11 v
Fra e e §T & yam o) w8 IR ghe
(a) ‘13R1I
(b)Y "I3RIII
(¢ H3RIm
(@) HiskIv .

(R)-2eAE @ ffte gom -13520 & |
2-8eAa & e whed & Mm R[Rre of

| +676°%Iﬁﬁﬁ$ee(ﬂ%ﬁwmﬂﬁaﬂ)aﬁ

wideraar o7 & ?

(a)
(b)
{c)
@

25

50

67

75




71. The emf (E) of a cell is related to its variation |78.
2
in temperature, (—E) and AH as
oT /,
AH oE
{a) E=—"= 4 T("—-]
nF aT J,
oE
(b) E=EE—TP—)
~ 7F oT J,
AH JE
(¢ E=-— +T[—)
nF oT P
AH oE
(d) E=-—- —-T[—)
nF aT /,
' 74,
72. Consider the following statements :
When a direct current is passed through an
aqueous concentrated solution of NaCl
1.  pH of the solution decreases.
2. Metallic sodium will be deposited at the
cathode. '
75.
3. Chlorine gas will be liberated at the
anode,
4. pH of the solution increases.
Which of the statements given above are
correct ?
(@) 1and 2
(b} 2 and 3
(¢} 3and4
{d) 1and3
N-DTQ-K-EJG {24 - A}

Kinetics of the reaction A (g) - 2B (g) + C (g)
is followed by measuring the total pressure at
different times. It is given that

Initial pressure of A = 0-5 atm

Total pressure after 2 hours = 0-7 atm

Rate constant of the reaction = 1 x 10~ 71
What is the rate of the reaction — %’}1 when
the total pressure is 0-7 atm ?

(a) 20 x107% Ms!

(b) 40 x 104 Ms™

(c) 50 x 1071 Mg

(d) 70 x 1074 Ms™!

A solution of Na2803 v_._rill be oxidized to
Na,SO, by KMnO, solution in an acidic
medium. KMnQ, is reduced to Mn2*. How

many moles of Na,50, will be oxidized by
one mole of KMnQ, ? )

(a) 5 moles

{(b) 3 moles

(¢} 2'5 moles

(d) 1 mole

Which of the following statements About
HCOj are correct ?

1. It is a Bronsted acid.

2. It can ionize in water to form CO%‘ (aq.).
3. It does not exist in aqueous solution.

4. It is a Bronsted base.

Select the correct answer using the code given
below :

(a) 1,2 and 3
{(b) 2,3 and4
(¢} 1, 3and4
{(d) 1,2and 4

—'—




71.

72,
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b E-= ﬁ_T(aE)
) P
(o) E=—éI-I—+T(aE)
p

@ E=-£_T[?§-]
. P

& A & [4.91. §6 (emf) (E) 3O aW F fFeRo

9B\ o AH ¥ fd yoR waled & 7
.-an ' oo

AH . (9E
(a) E=—F+T(aij

nF T

nkF oT

nF 0T

Frefefaa sudl R Ror $i5we -

7 U R ORT U6 a8 NaCl fames ¥
yafed S o &, @

-1, RrmT s pHweaT 7 |

2. $ur | ufas |fom s 8 e
3. mwmﬂqﬁﬂﬂ?ﬁﬁ-l

4. fema ® pHEgaT £ |

TG T A I BT I IAE ?

(a) 13R2 '

(b) 23?\13‘

(¢) 334

d 13Kk3

{ 25 _—‘A )

affsa Acg) > 2B + Clg) & TR @,
srgencor, faftm wwdl W g & A &%, fear s
dRmmmifs

AP TRRNS T = 0-5'atm

2 ¥¢ &1C o I = 07 atm

FRifrm o1 an Frris = 1x 1073 571

st & w - A T, T PO W

07 atm& ? dt
(a) 20x107*Ms!
(b) 40 x 107% Ms™!
(©) 50 x107*Ms!
(d) . 7-b_x 10~ 4 Ms™!

Na,S0, & 0 e, 3weia megd § KMnO,

fieam T Na,S0, ¥ sfedigd & Smem |
KMnO,, Mn?* # 3wafda & s 2 | KMnO, &
v AT g Na,S0, & foem i sfelige &
S ?

(a) 5 W@

(b) 3 A

(© 250

(d) 19 ,

afafeg oo &4 9 aétrf-@:ﬂcog%aﬁﬁ
TAE ? ‘

1. U8 U6 §9eE 3 8 |

2. gE e i sl dER COY () =

FEaT & |
3. ug Fieny e ¥ afam S @ #
4 OB UG FEE AR T |
9 Re T g B wdm FR e IR GO
(@) 1,233
(b) 2,33R4
¢) 1,334
@ 1,23R4




-76. A metal M readily forms MSO, which is

~ water soluble. It forms an insoluble hydroxide

M(OH), which is soluble in excess NaQH
solution. What is the metal M ? .

(a) Mg

{b) Ba

{c) Be

(d) Cannot be determined as data is

insufficient

77.  Consider the following compounds :

HyC._
I c
H,CH,C

_CH,C1

~
CHzBr

P
H,C - CH
" >

III,

What is the correct E/Z notation for the
configuration of the above compounds ?

(a) Z,E E, Z
(b} E,Z,Z E
(¢ E,ZE 2

d) Z,Z,EE

N-DTQ-K-EJG

78.

79.

(26 - A)

A dienol, C10H140, on dehydration followed
by ozonolysis gave methanal, propanone and
2-ketopentanedial. What is the most likely
structure of the dienol ?
(a)
|\CH20H
CHy; CHy '
(b} H
OH
(c) ;
=~ CH,0H

(d) HO\;H -
~

In the reaction

1. CH,lI
excess
> Products,
N CH, 3. Heat
|

H

what is the major product ?

(a) f\IL
® 1)

© L
@ [




76.

v org M 9Es & MSO, & &ar & 3 9 ¥
fmr | ue ve R eRgiaons M(OH),
T & 3 NaOH & anferer 4 fadw € | erg M
TR ?

{a) Mg

77. Bt lﬂﬁiﬁl'ﬂ R &fEw
HyC_ CH,Cl

| _t=cC

H,CH,C CH,Br

i

H.C - CH _CDy
11 C=C__

H,C = HC CH,- CH,4

Ph (CH3)3

1138 c=C

HC=C CHQNH2

O .
IV' Q\ gSl
mtj,?ﬁu’\ﬁai%sﬁmasﬁvﬂé‘m/zmqm
g2
(a) Z,E,E, Z
Mt E,Z Z,E
(0 E,ZE,Z
(d Z,7Z EE "
N-DTQ-K-EJG

78.

{a)

79.

U SREAT, Gy H g0 7 3FA  3mued
(EAfRR) $ semg Fefee | #Ed, WEE
ik 2-PeRRERIw Rl | s o weite
Tyaa TRE o1 § 2

-QH ._
( CH,0H

CH; CH,

© Ho\gl3

fufsar

{b)

1. CH,I|
(\J\ 2. Ag,0 snfére
> 3AR
N

| CH, 3. IS

H

¥ & IAE FE ?-

(a) m

(b) @

{27 - A)




80. Consider the following compound : 82.
=)
| @D ] OH
N
A\, CHs
Me Me
What is the product obtained on heating the
aboVe compound ?
(a) <1—- CH,
. N
/7 N\
CH,; CH,4
Me
o NV
N
/N
Me Me
) C > 83.
N
7N\
Me Me
¥
(d) r>—Me
N
7\
Me Me
81. The sarﬁe amount of electric current is passed
through each solution of ferrous sulphate and
silver nitrate. If the amount of silver
deposited is 2-7 g, what is the amount of iron
deposited ?
(Ag = 108, Fe =156, S =132)
(a) 140 g
(b) 270¢g
(¢) 070g
(dy 135¢g
N-DTQ-K-EJG { 28 - A}

Consider the following in respect of a zero
order reaction :

1.ty is directly proportional to the initial
concentration. '

the
reaction is twice its t1/2'

2. Time taken for completion of

3.  Concentration of the reactant decreases
linearly with time.

Which of the statements given above are
correct 7

(a) 1 and 2 only
(b) 1and3 oﬁly
(¢} 2 and 3 only

{(d) 1,2 and 3

Consider a reaction
k;
==B+C

2

' k
B+D ---3——> Products (P)

If steady-state approximation for the
intermediate B is applied, what will be the

rate of the reaction, %%ﬂ ? '

@ P kikylAl
dt k,[C]) + kD]
w 4P _ kK kG(AIDE
dt  k,[C]+ k,[D]
© 4Pl _ k k,[(A][D]
dt k,[C]
: TR
@ 9P k, ki (A]

dt kD]




80.

81.

N-DTO-K-EJG

@ /’_N>—Me ;
/N

Preffaa difiis o forar i -

o
| @ OH
/N\ CH4
Me Me

!
M aﬁ_wmﬁwaﬂrm-mm

(a) <_x— .CH2

N
/N
CH; CH,

N
/N

Me Me

Me Me

g & e a weR @ R

Mg TS & faead # wafed & I & | ol
SET g% I A A 27 g |, @ W G A A
TR

(Ag = 108, Fe='_56, S = 32)

@ 1d0g |

(b 270 ¢g

(¢c) 070¢g

(d) 135¢g

. 182.

83.

{a}

g P B afife & ar § Freffes w
fam s« '
L b, SRR TR0 S AGHAUE B & |

2. aﬁ:ﬁmaﬁwﬁﬁﬁmgmwm
tyo BT GTAT BT 2 |

- 8. foRe @ Ao 999 & 9 fee

aear & |

I T A A B/ E ?
(a) daT 1R 2

(by I 1 3R 3

(c) aa 23R 3

d) " 1,233

kg
B+D —» IATE(P)
R fR &ifse :

ot wemad B & i wrd-smen  wfuded
W%mm,ﬁsﬁﬁmﬁa%w'
g ?

ap) _ kkglAl
dt  k,[C]+ kD]

diPl _ k,kglAIID]

(b) ‘
dt - k,[Cl + kD]

diP] _ k ky[AIID]

©
dt k 2[C-']

. 2
@ d(P] _ ki k,[A]
dt k,[D]

{29 - A}




84. What is the approximate pH value of 0-10 M |87.
aqueous solution of a monobasic weak acid
(pK, = 5)?

@ 2
(b) 3
(c) 4
(d &

85. For a reaction of the type nA -» Products, a
plot of 1/[A1? along y-axis versus time (s)
along x-axis gave a straight line with a 88
slope equal to 0-0L. If the initial
concentration of [A] = 1:0 M, then consider
the following statements :

1. The rate constant of the reaction is
1x102 M1l

2. "ty of the reaction is 100 s.

3. - tgy, ie. 75% of the reaction will be

. 89.

completed in 300 s.

Which of the statements given above are

correct 7 .

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d) 1,2and 3

86. If the dissociation constant of a base MOH ig
1 x 1077, what is the approximate pH value of
a 0-1 molar aqueous solution of the base ? %0
{a) 3
(b) 6
(c) 8
d) 10

N-DTQ-K-EJG { 30 — A}

Consider the following statements in respect
of lanthanides :

1. The basic strength of hydroxides of

lanthanides increases from La('()H)3 to
Lu(OH),.

2. The lanthanide ions Lud*, Yb2* and
Ce'* are diamagnetic.

Which of the statements given above isfare
correct ? ‘

(a) 1 only

(b) 2 only

{¢) Both1and?2
(d) Neither 1 nor 2

Which one of the following octahedral
complexes of cobalt (III) ion would nof show
optical isomerism ?

(a) {Co(en)3]3+

(b)  [Co(OX),1*

(c)  cis-[Colen),Cl,I*
(d)  trans-[Colen),Cl,I*

Consider the following complexes :
1. Fe(CO),

2. Ni(CO),

3. K [Fe(CN)]

4. Nay[Cu(SCN),]

Which of the
18-electron rule ?

{a} 1 and 2 only

(b) 2, 3 and 4 only
(¢} 1,2 3and4

(d) None of the above

above complexes cobey

Which one of the following will react with
n-propylmagnesiumbromide followed by acid
treatment to give butanal ?

{a) Ethylorthoformate
(b) Formic acid

(¢) Formaldehyde

(d) Acetyl chloride




84.

85.

86.

N-DTQ-K-EJG

BHEIRS! gaa 31 (pK, = 5) & 0-10 M 3
feram o wfee pH w7 @ 2 2

{a) 2
by 3
(c) 4

(d) 5

nA - IR, YER B T Hfifew & for y-we
R AR &, x-38 W) IHg (s)ésﬁwm
0-01 @TeT arell ¥R @ & | ol urfiws e
[A] = 1.0 M &, o Freafofee ool ® far
s -

1. #ufemmeanfoas 1x 102 M1lgld
2. FfBABIL,,, 1008 |

3. ty, HUW 75% HiHAT 300 s ¥ Y B FwA |
TFHR A AP I I E 2

(a) dhaer 131k 2

(b) &aa 13k 3

{¢) ®ad 23R 3

d) 1,233

o &5 &I MOH @7 fieliom Reris 1 x 107 2,
W &R F 01 IR Fdg e & e pH
AT q g P

tay 3

(by 6

{c} 8

(d) 10

87,

88.

89.

90,

{31 -A)

ddagsl & wey PR weEl w R

@i

1. RS & EREaUsEl o aROT WEed
La(OH); ¥ Lu(OH), a& agar & |

2. ©eFRs 3, Lu®t, vp?t aflk Cedt
e § |

TgE s A A A R &E 2

(a) ®aad 1 :

(b) Fad 2

() 13k 23t

Q) Fdr1sikIaE 2

Frafofea & @ wee (1D s & o= @
FCHEER TR TG WArITd FE qehe ?
(@) [Colen)y®*

(b) [co(OX)SP"

(c) cis-[Co(en),CL,]*

(D) trans-[Co(en),Cl,1*

RrerfeRas <igelt = frar B -
1. Fe(CO);

2. NiCO),

3. K,[Fe(CN)]

4. Nag{Cu(SCN),]

JYE Hpal T B/ 183?13@7%&31313%
&R ?

(a) @ 13K 2
(b) e 2, 33Kk 4
() 1,2,33R4
3 # & B A
FrafafEa & ¥ 3 @1 ve SRS RrmEmEs
& ST, 30 a3 JUAR [ FAT 4 ?
(a) vidresitifene
(b) wifis s
(c) PHERERES
(d) vaRE aeiies




’—_—

91. Consider the following carboxylic acids : 93. Consider thé following compounds :

CH,COOH . ~ B
) & O

1. 0 ©
I II 111

CH,COOH
. €F t
CH, = CHCH,COOH

CoH; CH,CHCOOH
CH,

el

W

Which of the above compounds are aromatic ?

Which of the above carboxylic acids eannot be (2) Tand II only

synthesized from malonic ester ? (b) IIL III and IV
{a} 1 and 2 only (¢ III,IVandV
(b) 2 and 3 only " (d} TIIT and IV only
(¢) 2,3 and 4

94. Consider the following compounds :
{d) None of the above ; OCOCH, COOCH,

' CH3
92, Consider the following ketones : @ — CH
. 3

1. CH,- ﬁ — CH, - C4H,

0 I : I I
2. CH;-C-CH,-CH=CH,

0 NHCOCH;4

0 : N(CH3)y"

O
Which of the above ketones' carnot be Which O‘f. the' ab:ave com;? ounds undergo
synthesized from acetoacetic ester ? electrophilic nitration reaction faster than

benzene ?

(a) 1and2 only (a) 1 and IV only

(b} 2 and 3 only (b) II and III only

(¢} 1 and 3 only (c) IV and V only C
d 1,2and 3 d) ILIVand V
|

N-DTQ-K-EJG — {32 - A)
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91.

92.
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et orifeafees sral = TR e
CH,COOH

1.

CH,COOH
. Y

3. CH,=CHCH,COOH

4. CgHsCH,CHCOOH

CH,

e ¥ ¥ BF W ve oRiftes 3w, Aeife
TR} § uroita T8 a mwwa & 2

(a) oo 13R 2
(by daer 23k 3
© 233k4
I | W B T

Prafefas HieH ® far B -
1. CHy-C~CH,
]
0

— CgH,

2. CHy-C-CH,-CH=CH,

I
)

H
0

e B # w w EONERT et §
Heota 7% fooar s qar & 2

(a) waa 132

(b) ada 23R 3

- CH, - CgHy

() wam13k3
@ 1,23Rk3

93.

94.

{33 - A)

frafafaa difte! | faar S -

D &

3Y
9w aiffrel # @ B Wiles & 2
(a) &g I3RII
(b) I, III 3k TV

(© HOL ViRV
(d) Faa LIk 1v

Frafefee diffret w fw Sifswe -

OCOCH, COOCH,
CH,
|
T@ CH,
CH,
I I 11
NHCOCH,

@ ©/ N(CH,),

sq.zi,ﬁ el § 3 aih ¥, T ¥ R
goaR - gt Hfifhar 2 € 2

(a) ad I3 IV
(b) Haa 11 3R III
() I IVIRYV
(dy ILTvakvV




| 95. Consider the following compounds : 97.
I. . Benzene
II.  Chlorobenzene
111, Nitrobenzene
- ~IV. Toluene
What is the correct order of rate of
mononitration ?
(a) IV>TI>1I>III
. by M>IT>I>1IV
¢) M>TMI>IV>1
. d I>IV>III>1
96, Consider a photochemical process 98
Sy + hy - s
. K
8 —— SO + hv
. ky
S ——— 8, + heat
* kq
S +Q —— 5;+Q + heat
The time required for the concentration of s
to fall to 1/e of its initial value is given by
(a) T= 1 .
kf +kic + kq[Q]
99.
b t= 1
ke + kic + kq
() = !
k. +k,
@ t=—3
k, +k,(Q]
N-DTQ-K-EJG {34 - A)

Which of the following are the characteristics
of chemisorption ?

1. High heat of adsorption
2. Irreversibility
3. Low activation energy

Select the correct answer using the code
given below :

(a) 1 and 2 only

(b) 1 and 3 only
(c) 2 and 3 only

(d) 1,2 and 3

The rate of an enzyme catalysed reaction is
5-0 x 100% Ms™! at a substrate concentration
of 001 M and the maximum rate is
1:0 x 1073 Ms™l. What is the value of the
Michaelis — Menten - constant, K ?

fa) 001 M
() 0-01 M1
{¢)y 002M
(@ 002M!

What is the product formed on reaction of
4-nitroaniline with triflucroperoxyacetic acid ?

{a) Nitrobenzene
(b) 1,4-dinitrobenzene
(¢} 4-fluoronitrobenzene

(d)

1,4-difluorobenzene




95.

96. .

N-DTQ-K-EJG

. FRgesi
Iv. =
ARSI B &% B &l &5 a1 & ?

{(a) IV>I>1II>1I1
by IMI>II>I>1IV
¢ I>NI>IV>1

@ I>IV>II>II

wm—wmﬁmmmﬁmzaﬁ%ﬁ:

So+hv_)s*

a  kp
# kk
S —=— 8, + I
* kq .. .
S +Q-——~——>SO+Q+$GF[T

S” 1 \raoT fiRaR 395 RS T & /e BN ®
fere snavas W feed err Rar s 2

1

(a) 1=
ke +k; +k Q]

d) 1= —
ko +k_[Ql

( 35

97.

98.

99.

- A}

zarT & Frefafa % 3 Sl ¥ sfreeor § 2
1. 3@ siftreimor e

2. e

3. 2rcy wRpaor F3i

. A i T FT F W aR E FwR g

(a) ®ae 13tk 2
(b) &aer 13k 3
(¢) o&am 233

(d 1,233

U Togd 3R afifear & & 50 x 1074 Ms-!
§ o 5 fsamar wrsor 001 M & @ afReaw
W 10 x'1073 Ms~1 2 | medplery - A4 Reriw,
K, & 79 @@ & 2

(a) 001 M

Fl
(b)Y 001 M1
{c) 0-02M

(d) 002 M!

4R B TRRRIRNRENRS 3na &

mmﬁ%m%mma@ﬁré?

(a) ?T%@a:ﬁ?

(b) 14-EEARGI—HI
(¢) 4-FgARMIGE R
(d) 1,4-@3@541—{%%:;%:{




100. In which one of the following reactions of
aldohexoses, will the product be
aldopentose ? . '

PhNHNH, HCl
{a) Aldohexose > X > Y
. ZnfAcOH
—— 5 Product
. Bry/ HyO ‘
(b) Aldohexose ———> X
1.Casalt > Product
2. Hzoz, Fe+2 -
1. Ba(OH)
(e} Aldohexose HCN>X _ 2,y
_ 2. HyS0,
Na/H
——i——g—a- Product
Br,/Hy,0 Pyridi
@ Aldohexose — 223 X —o00¢ ¢

1. Lactonisation
2. Reduction

> Product

101, Which one of the following is obtained from
hydrolysis of oils and fats ?

(a) HOCH,CH,0H

(b) CH,O0H

(¢) HOCH,CHOHCH,OH

(d) CH4CH,OH

102. Consider the following statements :

1. o-nitrophenol and p-nitrophenol can be

_ distinguished by their IR spectra.

2.  3-penten-2-one and 4-penten-2-one can
be distinguished by their UV spectra.

3. 1,1-dichloroethane and
1,2-dichloroethane can be distinguished
by their PMR spectra.

Which of the statements given above are

correct ?

{a) 1 and 2 only

{(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2and3

N-DTQ-K-EJG { 36

an

103.

104.

105.

- A)

An organic compound having molecular

. formula, C,HgO gave following spectral data :

UV — Weak absorption at 2 295 nm
IR -v _ 1715 em™? (strong)

NMR - & 2-4 (quartet, 2H);
2-09 (singlet, 3H); and
1:04 (triplet, 3H)

What is the compound, C, H O ?

(a) CH,CH,CH,CHO
CH,

(b) > CHCHO
CH,

() CH, - C - CH, - CH,

I
0O

(d) CH, - CH = CH — CH,0H

Consider the following statements :

Synthetic transformation of >C =0 t0>CH2
can be achieved by

1. Clemmensen’s reduction.

2. Wolff — Kishner reduction.

Which of the statements given above is/are
correct 7

(a) 1 only

(b) 2 only

(c) Both 1l and 2
(d) Neither 1 nor 2

Consider the following statements :

1. Benzene diazonium cation undergoes
ArSy; reaction.

2. Benzene sulphonic acid undergoes ArSy
as well as ArSg; reactions.

Which of the statements given above is/are
correct ? '

{a) 1 only

(b) 2 only

(c) Both 1l and 2
(d) Neither 1 nor 2




100. deeer & FrefRag sfifsant ¥ ¥ 759 w
¥ IS U e A

PhNHNH, v

HCl
(a) DRRTENT X -

Zn/AcOH

—_—

Br,/H,0
—= = > X

(b) URREEd

1. Ca ®@au s
2. H202, Fe+2

1. Ba{OH)
Yenmey N, ¢ PRy
| 2. H,80,

Na /Hg
_—

(c)

Br,/HyO % RARET

1. deeET
2. T

@ UeeReEE > Y

Jie

101.
-3 | I B B P
(a) HOCH,CH,OH
() CH,0H
(0 HOCH,CHOHCH,O0H
(d) CH,CH,0H

ﬁﬂ%ﬁgﬁmwﬁaﬂaﬁﬁn

1. #@;ﬁnﬁqmaﬂzpqm@ﬁ?mﬁﬁam
IR WagRl gy o 51 A & |

2.  3UCM-2-317 3R 4-0E=-2-30 H 0% 3%
UV gt gr fooar o wwar & 1

3. 1,1SRaRudd sk 1,2-sEeeRiedy i e
3% PMR eyt gRT fosar o wel € |

I TR A A A AR E
(a) Fam 13ik2

b) e 23k 3

(c) @ac 133

(dy 1,23k3

102,

N-DTQ-K-EJG

Frafoied # ¥ 39 @ e, aa R awmit &

103.. waéﬁad‘iﬁa# %WWCHO%
FraferRea Qe o R - |
UV — goieT 31@9imor 2, = 295 nm W
IR —v_ 1715 em™ (¥&e7)

NMR - 3 2:4 (Tgw®, 2H);
2-09 (To®, 3H); 3k
1.04 (Fs, 3H)

diffrs C,H,0 7 & ?

(a) CH,CH,CH,CHO
CH,
® > CHCHO
(¢) CH,-C - CH, - CH,
Il
0
(d) CH,- CH = CH - CH,0H
104. Frfeies so R R Sifde
>C=0& >CH, % | surawor g far
ST e & .

1. T 3vEad g’ |

2. o — R ameaE gw |
I Tt § A B S T E 0
(a) oad 1

(b) &ae 2

() 13 2t

(@ Fari1skadz

ﬁm%ﬁgﬁawﬁrwﬁmaﬁ%u

1. ¥ emifEm demm @ ArS, #
sfufiar @Y & |

2. IF WeOlE s B ArSy ﬁm‘a‘é’f
ArSp, % sififesar @ 2

S et # @ i AR wE A 2
(a) a1 '

(b) &ae 2

(© 13K 22r

(@ T 13iRTE 2

105.

(37 - A}




106. Which one of the following stereoisomers is |108. Proton NMR Spectroscopy can be applied to
given as RS not.:ation for top and bottom chiral detect which of the following ?
centres respectively ?
CH,CI ! 1.  Aromaticity
@ H — Br - 2.  H-bonding
a
H — Br 3. cis and trans isomers
CH,Br 4.  Structural isomers
CH,CI ‘ S_elect the correct answer using the code
given below :.
F——H _
(b) H — F ~ (a) 1 and 2 only '
CH2C1 (b) 2,3 and 4 only
(¢) 1,3 and 4 only
CH,CI
© Br — H (d) 1,2 3and 4
c
‘ Br———H
CH.Br 109. How many NMR signals would be given by
. 2 MeCH,CMe,OH in the presence of a trace of
CH,Cl1 . acid ?
@ T H | () 3
H — Br b
4
CH,CI (b)
{¢) 5
'107. Which one of the following alkenes is of E (d) 6
notation ?
CH CHCI,
(a) ? >C = C:: 110. Consider the following salts :
HaCH,C CH,Br 1. NaCl
CH3CH H 2. MgSO,
(b} Eh ;C - C< _ . —
CICH,CH; CH,CH,CH, 3. AlPO,
‘ What is the correct order of efficiency of the
CH.CH.CH.CH above salts (at low concentration) to
(c) CH3\C g R coagulate As,S; sol ?
-~ ~
CH, ® 2>3>1
CH,CH C=C-H (¢) 3>2>1 .
H/ \CH2CH3 d) 3>1>2
N-DTQ-K-EJG { 38 - A )




106. frefife R wad § 4 Sreer RS S,
oHer o 3R IreRde B deal & fow, Bar smar

g7
CH,C1

(@) Br

by

{e)

(d)

CH,CI

107.
27

CH%\

c=cC
HyCH,C ™

(a)

CH4CH, ~_

(b} . P
CICH,CH;

C=C

~ CH
(c) 3\(3 =C
CHg - CH”
N
CHg

CH,CH
(d) 3 2\C=C
H/

N-DTQ-K-EJG

feafffRea e S s e, E ﬂ'&a?menm

__CHC,

\CHEBr

H

-~
™~
CH,CH,CH,

*_CH,CH,CH,CH,

™ CH,CH,CH,

~C=C-H
S CH,CH,

108.

109.”

110.

(39 - A}

WIeH NMR dagrand & ffkifag § F fewer
wgfua 7 & e ygw o o wwar & 2

1. Relfewar
2. H-3IEY
3.  gver 3R fByy oaEag

4. TRGAIHED GHEGAd

AR e T T @ wan e wd IR g
(a) e 131k 2

(b)‘ ¥ac 2, 3 3k 4

(c) ‘éﬁal,saﬂm;

(d)

1,2, 33k 4

T AEHIES 3nd B JuReifa ¥ MeCH CMe2OH-
T {6 NMR ddd few sma 2

(a) 3

(b) 4

) 5

(d) 6

Frfefaa waol w frer Hifswe
1. NaCl

2. MgS0,

3.  AIPO,

YT Tl B As,S, WA (RE W) @
RBIET I D TEIA BT G DA I L P

(a)
(b)
() 3>2>1
(d)

1>2>3
2>3>1

3>1>2




111.

112,

113.

114,

Cy

The symmetry group is for the
moleculefion

(a) H,0

(by H,0,

(c} S0,

(d) NO;

Hydride which does not contain H™ ions is

(a) Lithium hydride

(b} Sodium hydride
{¢) Calcium hydride
(d} Beryllium hydride

Cel, has metallic luster. It is explained by
formulating it as

(a) Ce(IID), 217, e~

(b} Ce(II), 2I"

(©) Ce(IV), 21", 20~
(d) None of the above

All oxides of which of the following are

white ?

1. AIIID)

2. Pb(ID)
3. In(ID

4. Mn(ID)

- Select the correct answer using the code

given below :

{a) 1 and 3 only

{(b) 1,2 and 3

(c) 3 and 4 only

(d) None of the above
N-DTQO-K-EJG

{40 - A}

116.

115. A wave function y is acceptable when it is

finite, single valued and continuous, Which
one of the following is an acceptable wave

function 7

(a) wy=¢e"
by y=¢e>*
(¢) w=sinx
(d) w=tanx

Directions : The following five (5) items consist

of

Statement II. You are to examine these two

two Statement

statements, I and
statements carefully and select the answers to

these items using the code given below :

Code :

(a) Both the statements are individually
true and Statement II is the correct

explanation of Statement I.

{b) Both the statements are individually
true, but Statement Il is not the correct
explanation of Statement I.

(¢) Statement I is true, but Statement II is
false. r '

(d) Statement I is false, but Statement II is

true.

Statement I: The quantum yield of H, ~Cl,

reaction is 10% - 108.

Statement II : Fluorescence is a radiative

emission process.

_'—l




111.

112,

113

114,
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(@)

T8 oy an § s fow ey wgg C, & 2

(a)
(b}
(c)
(d)

H,0
H202
S0,

NO;

a€ DI 7 7eeRs 8, e H- amae sufea ad

Fr
(a)
(b)
(c)
(d)

. Cel, W erfes T A0 ¥ | g s ge

5 A0 F o S E v
(a) 'Ce(III), 217, e~
(b)
(e)

{d)

Ce(ID), 217

Ce(IV), 217, 2e~

Tl 4 W B

Prfafaa § ¥ a8 8 kil %" 5 a0 sifeaes
wag e

AI(TII)

1

2 Pu(IT)
3. ZIn(ID)
4

Mn(II)

Ty T e g & wam o) E IR g -
(a) T 1 a3

(b) 1, 2@ 3

Hae 3 T 4

I F W B &

115.

UH T BeH y Wie ol ¢, aft gz aRftm,
TEHA vd Tad & | Fefiea ¥ ¥ o9 1 ve
WHd 8T B g ?

(a)

P - ﬁza%ﬁaar grg (5) weeN A & @ &

1186.
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w7 1 Ik @m0 1 57 e wuH @
maﬁgdasqﬁawaﬂ%vsﬂvavm$m
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£

2N B @few W ¥, dR @ I,
B 1 P TE WD & |

Mt B miew v €, feg @ IO,
T 1 T GE IR @

(a)
(b)

(¢) & 14 2, feg &9 I & |

(d) oY 13 ¢, fog T a9 & |

FFl:  H, - Cl, #HEsar & w@wen afe
10* - 1082 |
I nfedifta v fafakN scaat wm &)




117, Statement I :

-

Staternent II :

118. SiatementI:

Statement II ;

N-DTQ-K-EJG

In nuclear transformations,

slow neutrons are more
effective projectiles than fast

neutrons.

Unlike fast neutrons, slow
neutrons are not repelled by

the nuclear target.

trans-1,2-dimethyl cyclohexane
stable than
cis-1,2-dimethyl cyclohexane.

18 more

In trans-1,2-dimethyl
both
occupy

cyclohexane,

groups
position

methyl
equaterial
whereas in
cis-1,2-dimethyl

only one methyl group can

cyclohexane,

occupy an equatorial position.

(42 - A )

119.

120.

Statement I :

Statement II :

Statement I :

Statement II ;

The  dipole
1,2-dichloroethane

with increase in temperature.

of

increases

moment

The population of the skew
conformation of
1,2-dichloroethane

with increase in temperature.

decreases

Lyophilic colloids a.re more
stable than lyophobic colloids.

lyophobic

In system the
dispersed particles are more
solvated than 1in lyophilic
system.
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Note : English version of the instructions is printed on the front cover of this Booklet.
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